Chemistry Final Review Packet section 4.notebook

Chemistry 512 Review Questions for Final Exam
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1. Give alist of different forms of energy. Separate by Potential & Kinetic.
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2. Astudent measured the density of aluminum to be the following results: P’\ S'ien ‘ nper
2.69 g/ml 2.71 g/ml 2.72 g/ml 2.68 g/ml -
| v
(cchc_M Velug )

e

g ELLLAD- ™ e
The accepted value of the density of aluminum is 2,70 g/ml ir:,-_'* ot pre :1'
Choaose the correct comment of the student’s precision and accuracy. —— e
a. The student is not precise, but is fairly accurate. y ; Kil
QD Thestiuslent Ispreiseand feirly acourete. ( > ( & ) /
c. Fhe student is not precise and not accurate. ,,;\-{?ﬁ, SO . 3
d. The student is precise and not accurate. preciie
P e s o - refre ! e T3 N L i
OLC tan P - A by 4. L A e to O ’I‘-‘f—\'l\_ PoE (r .
3, Using the last Value (2.68 g/ml) find the % error ofl;b"—nf"”J“'.cf'ri"{ut.fvT;': ;f.fcl fe K Cace '5‘-“‘4} =
DY . R ::__:____-_ e @eched o)

& x f‘c..z A A ".'I.:'.c_7'n'+‘fcl' 5

Coiver in Pheree FEG

4. a) Whatis a control in an experiment?

[.-‘-'.'\ <i 5 A __\ E N .l."::’-., ) S % - . r | I..‘ II
3 % & -\_,-1 \ .-} . E“).’ . { f""‘(—'-. W alf ¢ &= , 5,
- Cﬂ“-\L { Cos F—X2 ‘-—’( T‘"S CA-Y - Jl
b) What type of controls should be used in the water testing lab that tests the quality of Scarsdale water
? ’ : A . TP o e
supply! !\) IS '('.1' :/[{'__;--,"{ wnJZl < ol C |t TR { 1 )
m —> (N2ASK(C a_c
5. a) List the different types of glassware that we have used in Chemistry. ! : arL( 'a or
— 24 s } 4 et J1. a2 Y e~ ’
(T'.--l I"._‘ e o A" T lax I y }_-..'»-‘_ <« ko k >"7 } I / ;’_——(— 5 b‘%
\ 1 -_'"-_((_;—.-t;'_ !_' A

g eanty 6 sulibin

b) What should you do if you broke a glass beaker in the lab?

3
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G;\Iu\ bm"’*\btfvwd\ -
Fochr -ldel Methgl Gien xund abed o

In France, if you wanted S gallons of gasoline, how many liters should you ask for at the
gas station? (1gal=3.78 L)
(a\1891 b. .756L c. 189 L d. 7.56L

X' = 2 T8

6.

3. - = | )8 J s
P I
. Ifthe mass of a substance is determ:ned to be 2000 milligrams (mg), then how much is it
ingrams (g)?
200 ' ) 000 s i

20 = '... ) () s - - “\

’ dt
L St Sl

——] - a
8. A stude!t addedlz taTnBspoons of sand, 1 t'nbleslpoo'nT W__d'_z ;ablespoon of iron filings to 250 mL of

water. Describe how you would separate each of these substances from the mixture.
£ pAL - LAl Aand T R Y A ) -
,1\1 T A y )

B) Eous orak L

H PNOQ I7F dvni .\....Lcr'- Pry\'hh r\vw\L:. ~
9. Which of the following is the definition of an 'SOtOQQ?MkSS _va\-m# "',\er{'Y\V\#—

a. atoms that have different proton numbers

,—
oo W

0o

. atoms that have different electron numbers

Lss # = Frevmic # = B ol poat
y atoms that have different neutron numbers P . D “’((i'\ Tn ,\.\
,‘,‘. o~ ~ wA
. atoms that have different atomic numbers "*"‘ e' H H
)

10. The chemical symbol, Ni, represents which of the follmr\.rwen;’

a. Nitrogen & S nw~ At e , M/-L Qh‘nﬁ\.—"

b.Neon - ¥ ¢

Q_"._rjlr

c. Sodium N
/du Nickel

11. The atomic number represents:
a. amount of neutrons
(bs amount of protons
c. amount of protans plus neutrons
d. amount of electrons

12. The mass number represents:
a. amount of neutrons
b. amount of protons
(¢! amount of protons plus neutrons
d. amount of electron
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I Bl réect . 3 L, & ’
lhe 4em—e cets A i 2 i o~ i o
istler cubstt—eo . i '

13. When n{ass changes based on the amount of substanCe that you have, thisis a
a. Chemical mtenswe property B, Cpemlcal extenswe property
Ci Physu:a[ intefisive property ud Physmal extensive property

o h'..-l. ;r_-'r_.-\.... ""] "_\, Lty J AT ;e

bt et
14. The def"mtlon ofdens:ty is: EM%
a. Weight of an object ss (
(B, Mass per unit volume 0 . . W 3\
: . ons |

. Volume of an object

d. Volume multiplied be the ma Volv\vu—
Sy el @

15. Completethechan o HAS‘“:—A“‘“‘"#
et B A

I[ELEMENT # PROTON #ELECTRDNS #NEUTRONS Mﬂssn

Potassium - A 20 39
| |
16. The shape of a water molecule is: = + l\yP \‘
i wl ﬁ ’

a. Linear (‘

“ b.Bent O«

N /N
c. U-shaped {'"{ H
d. circular

Q oSl—‘-e S
17. Which is most responsible for wate ?Lﬁs sticking tpse
a. Covalent bonds = Sh’c e CO\'\'N\
b. lonic bonds = Po § vhwve "t\‘
(¢ Hydrogen bonds

d Van der Wa_é)forces
7S

1 efsne the following:

A) Element - cubstr—ce ol
l”LI r « l“,i-’--" i SK
B) Compound - . gu bs fece PRC O a
( x <A P Sl o € . Ha O, , NaClt
- X = > = , = ."l._
C) Homogeneous Mixture — 2 & ' AL S BE IRt $ i Hnte
R 1 e bog £ (
errev-lcy PP F od <
Lo
]
|
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. Which of the fo!lowmgks not ?*charactensttc of a metal?

a. It is malleable Qe i, iy ) "B (oo late | cordiets
e - b 4 -

b. It has metallic luster eleehvicaty § et S '

cltisductile =— (w1 @

(Ditisbrittle [ oz v ba! ) M E M o Q "ir_____—

20. When water changes from ice to liquid w er this is known as:
a. Boiling L —7 & eva ore

)

T SRR MEMOR 2
Su\o)‘-r"\a\"‘fuvx S - %,

Cs. Melting s — [
21. When a substance is observed undergoing oxidation in air, what type of change is this?
i

(= B

d. Condensation ._\"'-J L

a. Physical
/b Chemical
c. Nuclear { ruelsas = |

d. Emotional

22. When stored energy is available within a chemical comround, this type of energy is known as:

[,,a-j Potential energy = C e ) Ca \ b ( )
| ST -2 Te e
c. Electrical energy - 2 - N\dl-/\

d. None of the above ﬂ M
’L—-j\ O;(\'A&*\ ™M

23. The 1* column on the Periodic table represents
hon K+® 9 AL

a. Halogens it - : Cewe
b.:olbli gases — (&1 M C'Mo Klz%sco &:ll"lm &nc"\M P‘b = A' + B

c. Alkaline earth metals - . = S, h E.f‘“"‘*‘-\'l' PAA\ h-'l'ﬁ(_-?PfC'f’&
Lﬂ_,xAlkalimetarlts |t_:;..-_ Dw:alc. F‘fl&w\* &;*:ﬁ&#—cb-ﬁﬁwﬁ

G“\,u\shm ehchuv\ CH-(-O '%COL+H 0

24, Fill in any missing substances, balance the reaction and determine the type.

cHy +_ /L o > €GB, .+ 2H,0 ‘\'ENEK(f\/

HC T <_ r o R ,
Ty Pt.E Ru.uuon l {J I“C-._- ol E}(O*LQ r ™M L
1 t 4 g A H—- T

Brj;”CI HO o ) ln—__-_

b. Kinetic energy « [ &

P

'\JaBr 2 /[ NaCl et s
MEMON 12 212 . b
L ct] wet 2 )
Type of Reaction: & 2 (] | 28 T Due— LA

Br- R~ N=N H‘
Ci-&4 0=0 [

June 10, 2016
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T Conpow..s\“' l“ e

25 Fill in the missing information.

?EGCT |CE 45

June 10, 2016

i cd~a =

{\J-'4\-_'-4-I'"“ . 5 il
é»ﬂnod

e

| Compound ‘ Symbol and Symbol and Number of each type of ngllsh Name for the
| charge for + charge for-ion | ion (Write the ion and the | compound /
| ion number of that ion in the : X
B ] formula) Thaee @
il r (s ‘. - : .) B 3 . 7= £ e 1w I =] ; .
1 regel | Te O a3 6 ns Tro () 0k
) Ca S e e el B | Ifid
il - . ¢ = R T Calcium Sulfide
=B f_wa %z 121 "
a | | e :
13 Callly), | —=—<mm) |20 s dolcivn Nt

et i)/

26. The amount of electrons that are found in the outermaost shell (principal energy level) is known as:

a. Protons
b. lons — € e posrticla M E M ) R | Z E
¢. Atomic Number
/d\
f_cb Valence electrons 8 ( )
- Poviandie “Talika
27. What is the ewmﬂgum of Bromine? :
(2)2-8-18-7 O oi b o | = -
b. 2-3 C s B Dicx 1de -
c, 2-2 i w1 T2 e~ 'i ..l 5 ,‘l'
d.2-8-1 A i
.2-8-18 I(]__,_(_ P € F—;—{_ el erde

MD l ew‘ AC
28. RI‘ in the E'rffixes foﬂhe IUPAC n3mes.

*‘—'(_ Lrrd

| One
| Two e ! D
Three | T
' Four | Tedra

—_ CGV\‘\"\:“ 4

PRACTICE

carban 4+ l\g c‘/raj e~
29. Fill in the organic prefixes for the following Alkanes.
—— C N

nt 2L

CH4 Hetloa-e CeHig |: Li#g y
— CiHs FE 1 f-f--_.._:__ Rt — ‘_Crl'jﬁ — u c-\."' f—r\,,
C3Hg 1 R ] CgHag | Ddlee
CaHio 4 et CoHzo ! Naveana
CsHiz Pertrrre CioHa2 Decoe
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Cn=40 9.C.
Can 2@ 2% §0=160 54-:’—_-51-_,2(2

/Tohl Mogs=Whole Mass ZOD

30. What is the p_g[_enLCQJT]pQSItLDn of Na in the compound NaBr? ]\, a

SHOW WORK ~ Adeviic  masses Br - , {\'__ ,

' Totn Na 8- — 103 ¢
'i'_:\'\ ¥ fad {1 5, I T" \J
g S—— lanle 3

31. Determine the Gram Molecular Mass or the Gram Formula Mass for CaBr. .

SHOW WORK /4, A & " Li¢ \ Lozl Vel € b \
Fao-‘-w-ln lu-\ Mu"Lﬂ' Br= Bog/mix Leml=lcog

z/_og w leml Ga= 40J : e

/ﬂ\/{le'ul@f 160y, (el ~GFH 200q/n
le &Br = 200 /‘,,,\f”< PRACT(CE_

32. Determine the amount of grams for 5.6 moles of C;H; &

)
SHOW WORK ~ Atev >y T e
C,\'vwx un-+ -|-° &u—-—d - |.; = lo leely ¥oewl = . S
‘_(_— Grix 4o cereeled KK - Ca Hy " oy
L, b ples ) § : o i
. — i 'f:,f::‘“ * 156.% 3 Ca2 My
33. Determine the amount of moles for 79.3 grams of CL,. o ms ) i e
SHOW WORK  Adsc Hass - o WFNE Ay e )

.?1; . "_.)‘ o o

5.

ngb;i-_u_&i ?1".3 [y ~)

_/_

\ W‘\""vLec_.,\ald: ‘7/6

34. Which of the following indicators turn pmk when itis put into a basu: soluti \
{ . P N AAf LATET
a. Universal indicator di&fevewt  colocs € acid 1 L

b.BTB blue = 4rees~ < e € &Lty ! ' E K Zf—
(_E,-Phenolphthalein) lear = | e (base adicaber) ' M MD , p’

d. All of the above

35. When a substance has a pH o+ c 0 pe which of the following:
a. Weak acid | &
b. Weak base . [ —— =—_="1
c. Strong acid —“——7-—— 7 ’"’u S e w ol 9 share
(d)Strong base ey . . .
g )\ Ao se
36. When a substance is neutral, it will have a pH of: H E HO K ! 2 5
|J. 3
(6.7

d. 10

June 10, 2016
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CA‘IOV\ - ?bs;’h\lc':m pmien-’-p.cﬂx('\'./e |6

37. When solution has a pH of 3, which of the following ions does it have a lot dissolved in it?

(“@Hydrogen ions O 1
b. Hydroxide ions - _'—— + = e =38
~— ¢. Anions hhsadte ’—} HT |' { n ks i
= S LY c-.k;" l"j G Ak
d. OH ions Y avs — _Fl-—f"’ Q - ( }
—Cd - —

38. Ifit takes 30 mL of 0.5 NaWo neutralize 120 mL of f an H HCl solution, what is the concentration of the HCI?
“y 'l'. s A h d

4 MoVy=MVol— Vo lowat. oS
6«% /( ava bVb

Mo les '— i
. Vil LL{‘-‘,_ Bouredt 4t rauvtalizg
PRACTICE™™ =F -
RQ % 120wl = O, SH x 3om b “s

Mo = (20 = IS e o,af‘la
Me {.128 H ‘_ (M)' L“L(

39. If it takes 15 mL of 0.25 M HCl to neutralize 250 mL of NaOHsqunon what is the concentration of the
NaOH solution?

{MaVFMbe:I
O.26M x ISl = Hy » 289~ L
3.78 . M, »r 28om L

{/. O fSH '|.: M o

40. List 2 government agencies that monitor the quality of our water and their ac'[jjnym ‘
L)EP i’ O ‘1:-»-1.-r‘\r*.".-1'L (_“p | iR (G“Va‘-"‘_‘-'ll B REATTIVA
F{)pi - F-, scd f\ A€ /’\;'\,-V‘"‘"- l’-‘.-{""r’f‘-—'h‘—""‘

B 1

EPA - Eawvire . fen (4
PY S DoH - New Yor Gfate  Pepoarmrt of | fea (1

41, A) Start at a location in Upstate NY, describe the path of water being delivered to New York City.
CL!.*?‘C'” Meuntara = Q_},c’fu(‘:’ Sereen ﬁg.,,..;,:tr__L{ wittn chlorine

l, < avd sdd Floarine dre deeth
LJ \-?..")‘!'C,‘l-x__; L Ve

M_i/L_

B) Who treats the water for Scarsdale?

E 3 240 Lo : I"a"‘» ’ e
d E"-*’JU“: S New S ewa Water 3 L.L{X-“' L o S bt A
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42. List one thing the DEP monitors and how they protect the water quality within the watersheds that supply

NewVYork City withits water. (N @ % e < b T s % ol e
L,tj 4 T r\_a_, _‘{‘“3 ; ‘ - -
W . o 97 A K7 1l
‘3 C‘*«-p&' e LJde fees fA 64_(1 " P [<e zdr. La 768
2) A‘Lcl wir < Pricct Loatershe A (eed s
e gramn ot~ Faget

3) I'lf lermenn ¥

” ,.{‘ ]-"_]C [ L A {ﬁ N~

’-S_i.".l._’ £ l‘{"'? < Sowrces

43. Toxic Metal lons
Use the following table below.

lon Concentration | Present | EPA Limit for | EPA Limit for

Six Months Ago | Concentration | Freshwater Humans (ppm)

(ppm) (ppm) Aquatic Life

(ppm)
Arsenic (As) 0.0002 0.0002 0.44 0.05
Cadmium (Cd) 0.001 0.001 0.0015 0.01
Lead (Pb) 0.01 0.02 0.074 0.05
| Mercury (Hg) | 0.0004 0.0001 0.0041 0.05
) ..

a) Which ions stayed the same in concentration for the past six months? pﬂ:‘ﬂu e ® C{M-L o TH,,,_

b) Which ion increased in concentration for the past six months? l_‘&.&'—‘:‘(

c) What are the effects of heavy metal poisoning, such as lead and mercury, on the human body?
I H - H—(-:"I 3 A By o W LS _n.jg
- i s SNEREE T gdiesk g

44, If an element’s oxidation state goes from O to -1 then it is considered to have undergone
which of the following processes:
(@) reduction LEOD C'r =
-~ | ¢ C..‘LH L

b. oxidation / | O
le5e " |? v~

\re_dox -r

45. How much water exists on earth in the form of freshwater?
a. 100%  b. 6% @ d. 1%

Compir-

e

e

gf‘u{-)j

ele _._i"f""“

hen a~dh O"'CL""M
EMORIZE

inkable? -

c. galvanic corrosion
d. all of the above

46, How much water is considered clean and unpuﬂy_tgq so thatitis

a 10% b. 6% c. 6% & 005%
R
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47. a) Write the oxidation states above eacPelement in the chemical reaction below.

RACT |ICE e

b) Identify which of the element is undergoing oxidation and whith element is undergqin

p reduction ¥ . — o :E
ion in the chemical reaction below. 2e” + 5 - > 42 C | reaction
—(& == ‘ ZNag — 2 Na7+2e
&/ﬁ‘ O F1o-|
Cly + Na 2 NaCl
L e -
- lose e~ o= detiom Tc-« ehonn iy o= D
edochm Oxidahion o~ o
48. Explain how a battery is similar to a Voltaic ceil sarien. Coxivds he "‘,”j"“”‘f )
L_-_I | l oAl Lo I {"‘-‘ =S "'LJ - ™ |_".{,"L..‘, 2 1’]-( Al F' I‘"j
Lo e & j"> 748 '{'i <47 ( 5 l"n_" S s 4 (- \'-u.f‘(-«! - {‘/*—-'-cL (‘} e
]‘.;\3 o+h hosaue (@ e HT e,

beaptar s e |
\ -—---Lj ) ‘/-.--t'I‘ r’{:’,‘_‘L'_—u.L_'.-I Y~ ({_(.'\'f J-H'Tj\f )

e ‘ A x ’-1{"-_{i g (: AL

4

49. Determine whether the solution is saturated, unsaturated, or supersaturated in the following statements.

Use th gigub‘iiit,vfurg‘f’a“h PR P\ CT ’ C t

/N
aﬁ@gomeCIMOOgHZOat?ocf"'n\ L%E‘“ (_ﬁjcg Mo 3
2 FACU/N00s B0t 70°C. Sichy MZ’LI.
& gl i, 3<+7o°c S Pt sapntd (bsve PG e

b, 50 |<r~u:33 50g of H,0t 50°C - 3 super s et <o

T'--s gdl;\Ll’ :'lf‘l-‘:-c S‘ll.-lr__;_&_- 1 42 C (:'c_ bisire. $he | Hw_}
[ 3 [V} '

50Mfa satu xed solution of NH; in ﬂJO grams oszo at 20°C is heated to 50°C where the
solution is once again saturated, how much NH; will precipitate out of the solution? SHOW WORK

. N 2 a T 29°C s ...
”—-“—"".'E it “ ( c{. Huew_ 27q N Ha
284 Ny ab SOTC P ont

51. If a solution of NaNO; contains 90 g/100g at 50°C, how much more must be added to saturate
the solution? SHOW WORK
C' 'L'_-"

[15q o o Bdd e at Sa"C

90 & ek J

d—_-_’] (3_.3 Tf\ § t( ( J ’ S \;\1 l.\— [\- U - A ".i' g ({' ¢ ('_:. a —rI\ - {('I‘_t&
4 ln J el e 0 e

~—-52-What is the concentrahon in parts per hundred of a solution that has 35 grams of NaCl getting dissolved

into 65 grams of H,0? (This is also the percent concentration)

SHOW WORK o |ike 35 g 3 ':f..-1
~ _._-_"--_— = '>_r' F . - . :
':.‘-t.-;f"‘“‘"‘ _;_-_)\ f"{_ > \ f{.'t_ «]

2
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53, What is the concentration of the solution that has 75 g of KI dissolved into 25 g of H,0 in parts per
hundred and parts per million? SHOW WORK

..?g_‘_ f\_ [{, ; i ] \\
_/_J——’-' O AL \ -
—i— o LS X TS PP
' S( e _{'_’.- Q.\ £ ,} 00 . ey — >
A . N - e,
j{- 4 P . B S
. 2y s ———————— ( . = 750 000 1'1 ) )
OO0 c 6o 0 _ 000 a5 b TR
— L S
54, Energy due to motion is called: =
a. Potential energy
¢ b. Kinetic energy
c. Bond energy
d. Heat energy
55. For an endothermic process, the reactants are of potential energy (than/as) the products.
a. Higher —
(_”/B;- Lower \
¢. The same \ k
d. Depends on the process P E- '| P et tr
Ko"f{\q,, . J
t¢ < B T _

10
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6. Analyze tt - : . Mk\a- Sure b rk//\'{de
56. Analyze the following Patential Energy dlagranm | e |C '\3 (70 " |

L,] ~~'\. \

‘ \ E W

“i,x,m ,\51

50 b‘\’(n'{"&\
redn ok (8)

gan - Pa—(-zn‘hal EM-wm Rf MC{‘
A4S0k T Reaction p pathway

B+ SoeT — B +C

" Answer the following short answer questions based on the Potential Energy diagram.

a) Does the graph represent an exothermic or endothermic reaction?

B diciicicon

b) Determine AH for this reaction. P, .4 e S e Forefods 2L o e
S Ee)
c) Determine the Activation energy = E,, for this reaction.
H- _-}.f--.-_u % pea + - PosrcAr—1s RPN =

7 00 k)
e

57.1f 3770g of water is heated from 22.0 °C to 88.0 °C, how much heat energy in joules is absorbed?
(specific heat of water = 4.184 1/g°C) Q= st ) i _
: ; 7
( Q= 37 0q* ¢ (8% T4 'C w (HEL-22"C)
jCOQ 3 J " L,{_,j(j/ 'C % (ﬁ-f\

66T

= ?’ 7(_ r\
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58. Nuclear equations show transmutations of one kind of nucleus into another. Complete and balance the

equations for the followin ransmutations.

b Th> ‘He + %6 Kn

A Tl > busek on P

a. HC N l-lN +

6 7

Ma"\ol\te
59. What mass of I-131 remains from a 60 g sample after 40 days? Halk-Life 'W
(_."li,_ﬂ ___.'_—!-’: - hel -ﬂ"l’ e J:('. 1 e S |cr~'1 e I
. B RS AR T e —_—-—___

() ', L~ B 52 5 -~ £ r'_r{ t Ji o
gk ! o steal I d ———— _J
[ -t - 4 e as e = f hatf -1, vas
Py J f) (_k ‘gf L _i.:;—:;"--..,

/
60. The half-life of radlmsotope is lSl’days What m ass remains from a 100 g?ample&a&er‘ﬁS days?

(-;' (-‘ “ 'a"-:l_-} ,.f r‘ %_}- jk) @_ S_

SHOWWORK gt - [iFe = (8§ dey 3 S das _ =
P A - % hatf - live §

ICEI g e Dot L™ = 100 - l'-‘_ 3 T —
— _"__l‘lo.\) '1 .3
Tiqr( 4 = 45 d »HJ 3

N7 (’L . N @ P 2

loog 2> go, S5 2¢, —Q j2. 5 q
61. A device for controlling nuclear fission and creating energy is known asa N .o les s Pt 4 g

62. L/' whi | fed regulate the number of neutrons available by absorbing them.

——

63. Inorder to generate electricity within a nuclear power plant, steam rotates a furbie
b1 e 5 &
64. How could we define a resource? O ¢ ¢ At~ thed s> PN
. _/‘( . { . r;f‘.;\: -l*:_,_.{_
65. a) What is a nonrenewable resource? Q (e St L f et e '
gl Conoe t o, B
Qec c,- 'S f¢1"'M ‘l") I"‘" ‘}‘ —PL Ame-n
Y . ) wse
h) Name two nanrenewable resources. L, il

Watere—newable T © L fnkes Yerrs 1N
FeSounra c(«,\p\ ﬁﬂw )30\(_'(

12
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56. a) What is a renewable resource? I" C/fl\ A ’G) rm QG a ’n '
1"- '\S SU\S“].’M b’e '
| b) Name two renewable resources. I/\) A"" ( (

lJ\ ~A

&37) Tdevhfy esch of the pieces oF eﬁ_z,u_[)m.u\{-. belowd
ond S purpose .

13
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66. a) What is arenewable resource? S.;wuL“ﬂ--m?} ‘M“"d" Lem lae . "'A""‘(‘ i
oOr WP o i | S'u»ﬂ’f”“k

F
b) Name two renewable resources. gm“ : e g : L) ater
§51"-( LJ.-WEL. 4’,5 ralo'
Gree Hev e |
67. Describe a Nuclear Power Plant. Compare and contrast it with a sustainable energy power producin
gYp p 8
plant. List the positives vs. the negatives between the two energy producing plants. ;
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68. Identify each of the pieces of equipment below and its purpose. waofes A
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